NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 2 Homework

Name Date

1. Solve.
a. 36,000x10= e. 0.24 x100=
b. 36,000+10= f. 24+1000=
c. 43x10= g. 4.54x1000=
d. 43+10= h. 3045.4 +100 =

2. Find the products.

a. 14,560x 10

b. 14,560 x 100

c. 14,560 x 1000

o

Explain how you decided on the number of zeros in the products for (a), (b), and (c).

3. Find the quotients.

a. 1.65+10

b. 1.65+100

c. Explain how you decided where to place the decimal in the quotients in (a), (b), and (c).
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4. Ted says that 3 tenths multiplied by 100 equal 300 thousandths. Is he correct? Use a place value chart to
explain your answer.

5. Alaska has a land area of about 1,700,000 km?. Florida has a land area 1/10 the size of Alaska. What is
the land area of Florida? Explain how you found your answer.

I COMMO N Lesson 2: Reason abstractly using place value understanding to relate I'Iy 1.A.29
CORE adjacent base ten units from millions to thousandths. engage bl
Date: 6/4/14

BY-NC-SA This work is licensed under a
© 2013 Common Core, Inc. Some rights reserved. commoncore.org G':) ___—— Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.



http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US

